
姓名: 　　　　　　　 日期: 　　　　　　 分数: 　　　

指数(整数)加减乘除

(−1) + (−1) =2 (−7) + 6 =2

3 − (−8) =2 (−3) − (−1) =2

(−4) + 3 =3 (−8) + (−1) =3

1 + 8 =2 (−5) − (−1) =0

(−8) − (−9) =2 4 + (−9) =3

(−1) + 9 =2 (−10) + 8 =

7 − 1 =3 (−4) + 1 =2

3 − (−8) =3 4 + (−7) =

(−3) + 5 =3 (−9) − 3 =2

9 + 9 =0 (−4) − (−6) =3
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姓名: 　　　　　　　 日期: 　　　　　　 分数: 　　　

指数(整数)加减乘除

(−1) + (−1) = 02 (−7) + 6 = 552

3 − (−8) = 172 (−3) − (−1) = 102

(−4) + 3 = (−61)3 (−8) + (−1) = (−513)3

1 + 8 = 92 (−5) − (−1) = 20

(−8) − (−9) = 732 4 + (−9) = 553

(−1) + 9 = 102 (−10) + 8 = (−2)

7 − 1 = 3423 (−4) + 1 = 172

3 − (−8) = 353 4 + (−7) = (−3)

(−3) + 5 = (−22)3 (−9) − 3 = 782

9 + 9 = 100 (−4) − (−6) = (−58)3
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